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yﬂ__ 2y1+y = x3.0'2€x
2. BT FEA ([#45:104]
A 4y'+4y = 6 »)=2, y'(0)=3 »"(0)=-1

3. £ 4 Integrating Factor » B FRAMF>FEX [3F45 15 45)
2dx — e’ dy= 0

4. £FMA Laplace Transformation £ F i85 F 2K [4 10 4]
Y+ Y +125y =0 . y(0)=1, ' (0)=-05

5. (1) #9 _[;F-dr =J'f(2‘xyzz+cos V) +(2x*yz - xsin y+sin 2)dy + (x*p* + ycosz)dz B fk 4548
MWelaa:54]
2) REK—BFRBI(x, y, 2)  BHESELEOGZTIHF > Vé(x, v, 2)=F <[4 :8 4]
®) #A=(LO OB B=(Q 7,7/ R& [[F-dr=2 [st5 12 4]
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(1) REHTHERGERNERZBEEE A DY u=0 ©
u(e, ) s T EXRLSREE - [35:54])
Q) BRELLBRANERNBESEI TR 0 (x, ) = ? - X
Cs4r 15 2] Qe
. H1
- T S aR f()EX —BHANERE
f)=1+¢t, -1<t<l
(1) X RMH & F(r) 893 3 4z #(Fourier series) « [ 54 © 8 2 |
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